REVGEOMANMEMEREAERR (TR)

(BT - 4)
e R Frx - " _ - -
AR ME (£ L) e [ aam | onn [ as | SHE | BE 5| Foc | wxw | DM g
- Jarhear 438 80 25 51 145 16 0 3 0 3 761
100Bqg. kgL F 0 0 0 0 0 0 0 0 0 0 0
100Bq. kg2 0 0 0 0 0 0 0 0 0 0 0
&t 438 80 25 51 145 16 0 3 0 3 761

$100Ba/kegiB D EEYHEIXTRBELTLER A,

FHLLARE, TiR—LR—UZTELZEL,




REVFICBTIRHAMEMERZAERR

SH3FE7HBIE

(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk & waa | RO wonntes | ervnaisn  |evvsagm| PER
B R RE B R RE

FEEEH |45 B A FHE BRHEY[ 100 BRHET| 122 BmHEEd R3.7.12
BEEEH) |17 JEE HE BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.15
HEACEX N EPL P G KER BmHEEd] 100 BRHEE3| 122 BT R3.7.8
FEEEH |45 AR FILFE | BT 100 RHEd | 120 BHEd R3.7.14
HEEEH) |17 i KXH BmHEtEd] 100 BmHEtEd| 125 BmEEd R3.7.6
HEACETNEPL P i RH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
HE(EEH |45 i FE RHEd | 100 RHET | 124 BmHeEd R3.7.9
HEEZH) |17 G e BmHEtEd] 100 BmHEEd] 121 BmEtEd R3.7.5
B ExEH |45 i B RHEY | 100 RHEY 100 BREEd R3.7.26
G EX PP IMEST IHE mHt9 | 100 Rt 119 BREtEd R3.7.26
FxE(EZEH) (15> IMET INE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.20
FEEZEH |45 IMET INE RHEY | 100 RHEY | 100 BmHEEd R3.7.7
HRExH) |17 IMEST INE Rt 100 Rt 100 BREtEd R3.7.26
B (EZXEH) (152 IMET 15 H BmHEEd] 100 BmHEEd] 100 BT R3.7.12
HEACETNEPL P IMEST iz RHEY | 100 RHEY | 100 BmEEd R3.7.26
HEEEH) |17 Z#H Z#H BmHEtEd 100 BmHEEd] 121 BREET R3.7.19
HEACETNEPL P N /NMEHA BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.5
FEEEH |45 N I H RHEd | 100 RHEd | 100 BHEd R3.7.1
HEEEH) |17 N KE BmHEtEd] 100 BmHEtEd] 100 BREEd R3.7.20
B ExH |15 N E/NLUE RHEY 100 RHET] 1241 BmEEd R3.7.16
HE(EEH |45 XE /IMEH RHEd | 100 RHEd | 100 BHEEd R3.7.8
FE(EZXEH) (105> N /MEH BmHEEd] 100 BmHEEd] 100 BREEd R3.7.8
B EZEH |45 N /NMEHA RHEY | 100 RHEY 100 BREEd R3.7.20
HRExH) |17 £ = RHt9 | 100 Rt 124 BT R3.7.14
FxE(EZEH) (1052 KA = BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.26
FEEZEH |45 Kif XA RHEY | 100 RHEY | 100 BmHEEd R3.7.1
HEEEH) |17 KA 1 H Rt 100 Rt 100 BREtEd R3.7.5
FxE(EZXEH) (152 b=b. SR BmHEEd] 100 BmHEEd| 123 BREEd R3.7.15
FEEZEHE |45 =% ¥ H RHEd | 100 RHEd | 100 BmHEEd R3.7.15
HEREEH) |17 a3 ¥ H Rt 100 Rt 124 BREtEd R3.7.19
HEACETNEPL P =i KAR BmHEEd] 100 BmHEEd| 123 BmEEd R3.7.12
FEEEH |45 =% & RHEd | 100 RHEd | 100 BHEd R3.7.5
HEEEH) |17 b=b. puifas) BmHEEd] 100 BmHEEd] 121 BREtEd R3.7.1
B ExEH) |45 =i xR RHEY 100 RHEY| 125 BmEEd R3.7.12
BHE(EZEH |45 P xiR mHt9 | 100 Rt 125 BREtEd R3.7.15
B (EZXEH) (105> =% xiR BmHEEd] 100 BmHEEd] 100 BREEd R3.7.19
B EZEH 415 =% H RHEY| 100 RHEY| 100 BmHEEd R3.7.27
xR EXxH) |V b=b. #H Rt 100 Rt 100 BREtEd R3.7.29
FE(REH) |TF4<A JEE HE BmHEEd] 100 BmHEEd| 123 BmEEd R3.7.26
FE(ERH) |THA JEE H RHEY | 100 RHEY | 100 BmEEd R3.7.12
FE(REH) |T4<A JEHE FHE Rt 100 Rt 100 BREtEd R3.7.28
FE(EEH) |TF4A JEE FHE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.29
P (BEF) |TFIIA JEME s RHEd | 100 RHEd | 100 BmHEEd R3.7.30
FE(REH) |T4<A i Pa L SFHT Rt 100 R 127 BREtEd R3.7.27
FE(EEH) |TF4<A G RH BmHEEd] 100 BmHEEd| 124 BmEEd R3.7.7
HEACETIEL K] AR FE RHEd | 100 RHEd | 130 BHEd R3.7.19
FE (REH) |T4<A i EE BmHEEd] 100 BREtEd 75 BmEtEd R3.7.30
P (BEF) |TFIIA FaLs B RHEY 100 RHEY| 124 BRHEET R3.7.26
FE(BEfH) | T34 FiE i mHt9 | 100 Rt 125 BREtEd R3.7.19
FE(REH) |TF4<A i) i BmHEEd] 100 BmHEEd] 100 BREEd R3.7.29
HEACET NEL K] FE H il RHEY 100 RHEY | 122 BT R3.7.19
FE(REH) |T4<A -3 H =i R3] 100 Rt 125 BREtEd R3.7.28
FE(EEH) |TF4A Z3#H Z3#H BmHEEd] 100 BmHEEd] 124 BREEd R3.7.12
HEACET NEL K] —3#HE —3#HE RHEY | 100 RHEY| 124 BmHEEd R3.7.30
FE(REH) |T4<A XE N Rt 100 Rt 122 BREtEd R3.7.13
FE(EEH) |TF4A KE Hh BmHEEd] 100 BmHEEd] 100 BREEd R3.7.8
P (BEF) |TFIA PN B RHEd | 100 RHtEd | 100 BmHEEd R3.7.29
FE(REH) |T4<A KA B Rt 100 Rt 100 BREtEd R3.7.21
FE(EEH) |TF4<A f o] X HEE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.7
HEACET NIE K] =% ¥ H RHEd | 100 RHEd | 100 BmEeEd R3.7.26
FE (REH) |T4<A b=b. ¥ H BmHEEd] 100 BmHEEd] 100 BREEd R3.7.30
HEACET NEL K] =i x; RHEY | 100 RHET] 121 BRHEEd R3.7.14
FE(REH) |T94<A a3 xiR RHt9 | 100 Rt 131 BT R3.7.29
FE(EEH) |TF4<A b=b. xiR BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.26
FE(EXxH) 795 B A {hDET RHEY | 100 RHES | 120 BmHEEd R3.7.26
HEExH) |495 JEH FHE Rt 100 Rt 100 BREtEd R3.7.13
FE(EFEZxH) |95 G & BmHEEd] 100 BmHEEd] 100 BREEd R3.7.16
T (Bx$H) |475 A% 7a)l RHEd | 100 RHET | 121 BmHEEd R3.7.26
HEExH) |45 L *RH Rt 100 Rt 120 BREtEd R3.7.12
FE(EFEZxEH) |95 G L =FET BmHEEd] 100 BmHEEd] 100 BT R3.7.20
T (Bx$H) |495 FE H RH RHEd | 100 RHET | 121 BmHEEd R3.7.20
HEExH) |495 iti FH it Rt 100 Rt 120 BREtEd R3.7.26
B (ExH) |95 i) =0 BmHEEd] 100 BmHEEd| 118 BT R3.7.6
HEACET ML) IMEST INE RHEd | 100 RHEd | 100 BHeEd R3.7.19
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HEACET ML) IMET i BRHEY[ 100 BRHET| 121 BmHEEd R3.7.26
HEExH) |495 KE /MEH BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.14
B (ExEH) |95 KA SIAE BmHEEd] 100 BmHEEd] 100 BT R3.7.12
HEACET ML) KA EX RHEd | 100 3| 100 BHEd R3.7.5
HEExH) |95 £ = BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.7.13
B (ExH) 495 KA JEIA BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.5
HE(BEH) 405 KA XHE RHEd | 100 RHEd | 100 BmHeEd R3.7.21
HEExH) |95 a3 #E 4 [if] BmHEtEd] 100 BmHEtEd] 100 BmEtEd R3.7.14
FxE(ExH) 795 =% 2H RHEY | 100 RHEY 100 BREEd R3.7.29
R ExH) |45 a3 #H mHt9 | 100 Rt 119 BREtEd R3.7.28
B (ExEH) |95 =% puiifas) BmHEEd] 100 BmHEEd] 117 BmEEd R3.7.26
FE(EXxH) 795 =% X RHEY | 100 RHEY | 100 BmHEEd R3.7.20
B ExH) |45 Z D1t A Rt 100 Rt 100 BREtEd R3.7.15
FEEEH) [hRFv JEH FHE BmHEEd] 100 BmHEEd] 100 BT R3.7.5
FE(BEH) |[hiRFv JEE H RHEY | 100 RHEY | 100 BmEEd R3.7.12
HE(REH) |[hihFy JEH HE BmHEtEd 100 BmHEtEd] 100 BREtEd R3.7.26
FEEXRH) |[hHhFr JEE FH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.30
FEEEH) | hhFy A% AER RHEd | 100 RHET | 127 BHEd R3.7.29
HE (REH) |[hihFy i Eicp 1] BmHEtEd] 100 BmHEtEd] 100 BREEd R3.7.30
FE (BEH) |[hiRFv S RH RHEY 100 RHEY| 123 BmEEd R3.7.20
BHEEZFH) |hRFy AR KH RHEd | 100 RHEd | 125 BHEEd R3.7.20
FE(EEH) [AhRFv G =XH BmHEEd] 100 BmHEEd] 100 BREEd R3.7.30
FE (BREH) |[hiRFv i B\ RHEY | 100 RHEY| 128 BREEd R3.7.5
HE (REH) |[hihFyr i FE RHEd | 100 RHET | 124 BHEd R3.7.12
FE(EEH) [hRFv G B BmHEEd] 100 BmHEEd| 123 BmEEd R3.7.13
FE(EXRH) |[hHhFr Gile) i RHEY | 100 RHET] 127 BmHEEd R3.7.2
HE (REH) |[hihFyr i) =il Rt 100 Rt 124 BREtEd R3.7.20
FE(EEH) |[hRFv IMEST IE BmHEEd] 100 BmHEEd] 124 BREEd R3.7.2
FE (BEH) |[hiRFy IMET iz RHEd | 100 RHEd | 100 BmHEEd R3.7.15
X (REH) |[hihFy Z#H EB 4 [if] Rt 100 Rt 122 BREtEd R3.7.6
FE (BREH) |[hRFv Z#HE il BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.20
¥ (BFEHH) [ARFvy —3#H il RHEd | 100 RHET | 122 BHEd R3.7.21
HE (REH) |[hihFy —3#H —3#H BmHEEd] 100 BmHEEd| 124 BREtEd R3.7.6
FE (BEH) |[hRFv —#HE —#HE RHEY 100 RHEY 123 BmEEd R3.7.14
BEEZFH) |hEFy —#H -3 H mHt9 | 100 Rt 122 BREET R3.7.30
FE(EEH) |[hRFv N E/MUA | &BHEY | 100 BmHEEd] 100 BREEd R3.7.2
FE (BEH) |[hRFv N /NMEHA RHEY| 100 RHEY| 100 BmHEEd R3.7.8
HE (REH) |[hihFyr RE /MEH Rt 100 Rt 100 BREtEd R3.7.9
FEEEH) [hRFv KE /MEH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
FE (BEH) |[hiRFv N Ho RHEY | 100 RHET] 121 BmEEd R3.7.9
HE (BREH) |[hihFyr KE H Rt 100 Rt 127 BREtEd R3.7.12
FE(EXH) |[hRFv KA SITE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.1
FHE (BEH) |[hiRFv Kif B RHEd | 100 RHEd | 100 BmHEEd R3.7.28
HE(REH) |[hihFy KA X HE Rt 100 Rt 100 BREtEd R3.7.19
FE(EEH) |[hRFv KA 1 H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
HE(RZEH) |[hihFyr =% 2H RHEd | 100 RHEd | 125 BHEd R3.7.19
HE (REH) |[hihFy a3 #H BmHEEd] 100 BmHEtEd] 100 BmEtEd R3.7.20
FE (BEH) |[hiRFv =% 2H RHEY 100 RHEY 100 BRHEEd R3.7.21
HE(RZEH) |[hihFy =i #H mHt9 | 100 Rt 123 BREtEd R3.7.26
FEEEH) |[AhRFv b=b. A E BmHEEd] 100 BmHEEd] 100 BREEd R3.7.8
FHE (BEH) |[hRFv =% R H RHEY 100 RHEY 100 BT R3.7.12
HE (REH) |[hihFyr a3 pufas] R3] 100 Rt 100 BREtEd R3.7.21
FE(EEH) |[hRFv b=b. A E BmHEEd] 100 BmHEEd] 124 BREEd R3.7.29
FE (BEH) |[hRFv =% R H RHEY | 100 RHEY | 100 BmHEEd R3.7.30
HREZFH) |hEFy a3 SFE Rt 100 Rt 127 BREtEd R3.7.30
FEEXH) |[hRFv b=b. xiR BmHEEd] 100 BmHEEd] 100 BREEd R3.7.14
FHE (BEH) |[hiRFv =% xR RHEd | 100 RHEd | 125 BmHEEd R3.7.26
HE(REH) |[hihFy b=b. xR Rt 100 Rt 100 BREtEd R3.7.16
FE(EEH) |[hRFv Z D1t sERET BmHEEd] 100 BmHEEd| 123 BmEEd R3.7.20
FREEH) 1 *a2) [HhA EHHHA RHEd | 100 RHEd | 100 BmEeEd R3.7.16
FEEZH) |¥av) JEH EE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.12
HEACEXNEEYD) JEH EE RHEY | 100 RHEY 100 BRHEEd R3.7.13
FREEH) |*avY) JEH BT EJI RHt9 | 100 R3] 100 BREtEd R3.7.13
xR (EZX$H) [Favl JEHE HE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.8
HEACETNEEYD) EH H RHEY | 100 RHEY 100 BmHEEd R3.7.13
FEEEH) |*av) FitE 1 LI BT Rt 100 Rt 100 BREtEd R3.7.19
FxE(FEZX$H) [Favl G RER BmHEEd] 100 BmHEEd| 123 BREEd R3.7.2
HEACETNEEYD) A% A RHEd | 100 RHEd | 120 BmHEEd R3.7.1
FEEEH) |¥avY) FiEs A Rt 100 Rt 121 BREtEd R3.7.5
FEEZXE$H) [Favl G 78Il BmHEEd] 100 BmHEEd] 120 BT R3.7.1
HEACETNEEDD) s 78] RHEd | 100 RHEd | 119 BmHEEd R3.7.6
FEEEH) |*av) e H R BT Rt 100 R 117 BREtEd R3.7.5
FE(EZX$H) [Favy G =H BmHEEd] 100 BmHEEd| 115 BT R3.7.1
HEICETNEEDD) s RH RHEd | 100 RHEd | 100 BHeEd R3.7.5
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HEACEXNEEDD) s ®RH BRHEY[ 100 BRHEY] 100 BmHEEd R3.7.27
FEEEH) | ¥av) L =B BmHEtEd| 100 BmHEtEd| 119 BREtEd R3.7.5
HEAC EXNEEYD) i) i BmHEEd] 100 BmHEEd] 117 BT R3.7.6
HEICEETNEEDD) Fig Fi RHEd | 100 RHET | 117 BHEd R3.7.7
HE(REH) |2V i) Wiz BmHEY[ 100 BmHEY] 119 BRHET R3.7.5
FEEXEH) [Favy IMEST RRE; BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.9
HEACETINEEDD) INEST ST RHEd | 100 RHEY | 121 BmHeEd R3.7.1
FEEZEH) | *av) Z#H #E 4 [if] BmHEtEd] 100 BmHEEd| 119 BmEtEd R3.7.5
HEACETNEEYD) —3#HE ol RHEY | 100 RHEY | 123 BREEd R3.7.5
FEEXEH) |l —3#H El mHt9 | 100 mHt9 | 100 BREtEd R3.7.27
xR (EZX$H) [Favl Z3#H Z3#H BmHEEd] 100 BmHEEd] 121 BmEEd R3.7.1
FEEXEH) [Favy —3#HE —3#HE RHEY | 100 RHEY| 116 BmHEEd R3.7.1
FREEH) |*avY) Z3#H -3 H Rt 100 Rt 124 BT R3.7.5
FxE(EZX$H) [Favl Z3#H Z3#H BmHEEd] 100 BmHEEd| 123 BT R3.7.6
HEACETNEEYD) —3#HE —3#HE RHEY | 100 RHEY| 120 BmEEd R3.7.6
FEEEH) |*av) Z#H Z#H BmHEtEd 100 BmHEEd| 122 BREtEd R3.7.6
HEACETNEEYD) Z#HE Z#HE BmHEEd] 100 BmHEEd| 122 BmEEd R3.7.9
HEICETNEED) —3#H —H#HE RHEd | 100 RHEd | 119 BHEd R3.7.9
FEEEH) |¥av) Z#H Z#H BmHEtEd] 100 BmHEtEd| 118 BREEd R3.7.12
HEACEXNEEYD) —#HE —#HE RHEY 100 RHEY| 120 BmEEd R3.7.13
FREEH) | *a2) -3 H I—3#HE RHEd | 100 RHEd | 119 BHEEd R3.7.14
FxE(EZX$H) [Favl Z#H Z#H BmHEEd] 100 BmHEEd] 120 BREEd R3.7.14
HEACETNEEYD) —3#HE —3#HE RHEY | 100 RHEY | 143 BREEd R3.7.15
FREEH) |*avY) —3#H -3 H RHt9 | 100 Rt 100 BREtEd R3.7.19
xR (EZX$H) [Favl KE RH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.7
FxEXH) [¥av) RE T/MUE 3| 100 R3] 100 BmHEEd R3.7.13
FEEEH) | *avY) RE T/ Rt 100 Rt 100 BREtEd R3.7.14
xR (EX$H) [Favl N Hr BmHEEd] 100 BmHEEd] 100 BREEd R3.7.1
HEACETNEED) PN HEEH RHEd | 100 RHEd | 100 BmHEEd R3.7.6
FEEXEH) | a2l K& EH Rt 100 Rt 100 BREtEd R3.7.7
FE(EZXEH) [Favy Kif S ITE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.2
HEICETNEED) KA SITE RHEd | 100 RHEd | 100 BHEd R3.7.6
FEEZEH) |¥av) £ A BmHEEd] 100 BmHEEd] 100 BREtEd R3.7.6
HEACETNEEYD) Kif KA RHEY 100 RHEY 100 BmEEd R3.7.15
FEEXEH) | vl £ EEl mHt9 | 100 R3] 100 BREtEd R3.7.12
FxE(EZX$H) [Favl KA HIX BmHEEd] 100 BmHEEd] 100 BREEd R3.7.19
Fx(ExH) [Fav) =% SR R3] 100 R3] 100 BmHEEd R3.7.1
FREEH) |*avY) a3 ¥ H Rt 100 Rt 124 BT R3.7.15
xR (EX$H) [Favl b=b. £ H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.1
HEACEZNEE=wD =% A RHEY | 100 RHEY | 100 BmEEd R3.7.6
FEEXEH) | a2l b=b. #H Rt 100 Rt 120 BREtEd R3.7.6
FE(EZX$H) [Favy =% xR BmHEEd] 100 BmHEEd| 123 BmEEd R3.7.9
HEACETNEED) a2 SR RHEd | 100 RHEd | 100 BmHEEd R3.7.9
FEREEH) |*av) ZDHh &% A BT Rt 100 Rt 100 BREtEd R3.7.5
FEEXEFH) [Favl Z D1t SERET BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.9
HEREFEH) |O—F JEHE H RHEd | 100 RHEd | 100 BHEd R3.7.28
HE(EEH) |d—v i) =¥ BmHEEd] 100 BmHEtEd| 118 BmEtEd R3.7.16
FREFExH OV —3#HE ol RHEY 100 RHEY 100 BRHEEd R3.7.20
HEREFH) |O—F -3 H -3 H mHt9 | 100 Rt 122 BREtEd R3.7.29
FEEXEH |O—F Kif dbtEHE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.27
FEExEH) |-V Kif LiEHE RHEY 100 RHEY 100 BT R3.7.27
HREFRH) |O—F KA A R3] 100 Rt 100 BREtEd R3.7.27
FEEXH |O—F £ KA BmHEEd] 100 BmHEEd] 100 BREEd R3.7.27
FEExH) |-V =% #H RHEY | 100 RHEY | 100 BmHEEd R3.7.9
HREFRH) |O—F a3 pufas] Rt 100 Rt 100 BREtEd R3.7.19
FEEXRH |O—F =% STE BmHEEd] 100 BmHEEd| 124 BREEd R3.7.26
HEICET NP RS PY P JEME miA)Il RHEd | 100 RHtEd | 100 BmHEEd R3.7.1
FEEEH) |V y5y IMEST INE Rt 100 Rt 100 BREtEd R3.7.1
FE(EEH) (b4 yry IMET INE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.2
HEACEI NP REPYP IMET INE RHEd | 100 RHEd | 100 BmEeEd R3.7.5
BEEEH) |[YVv145y IMET INE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.6
FEICET NP AP IMET 15| RHEY | 100 RHEY 100 BRHEEd R3.7.5
HEACEI NP REPYP IMET 15 H RHt9 | 100 R3] 100 BREtEd R3.7.7
FE(EEH) (b4 ry IMET 7 BmHEEd] 100 BmHEEd] 124 BmEEd R3.7.20
FEACET NP AP N fH RHEY | 100 RHEY 100 BmHEEd R3.7.20
HEACELI NP REPYP XE RE Rt 100 Rt 100 BREtEd R3.7.1
FE(EEH) (v ry KE RE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.26
HEACET NP RSPV PN F/NLUE RHEd | 100 RHEd | 100 BmHEEd R3.7.12
HEACELI NP REPYP RE i Rt 100 Rt 100 BREtEd R3.7.2
FEICET MR PP N B BmHEEd] 100 BmHEEd] 100 BT R3.7.7
HEACET NP RS PY P PN B RHEd | 100 RHEd | 100 BmHEEd R3.7.9
HREFH) |Y5473F+H  |HEH [N Rt 100 Rt 130 BREtEd R3.7.16
FREEH) b JEHE FHE BmHEEd] 100 BmHEEd] 100 BT R3.7.27
HEACET PPN, s 7a)ll RHEd | 100 RHEd | 119 BHeEd R3.7.28
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EEMEFICES TS EBZBERER
SH3E7HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

HEACET PPN, e H [N BRHEY[ 100 BRHEY] 100 BmHEEd R3.7.14
FEEZEH) |TUbD IMET iz BmHEtEd| 100 BmHEEd] 120 BREtEd R3.7.9
FREEH) |TUhD Z3#H Rzl BmHEEd] 100 BmHEEd| 123 BT R3.7.2
HEACET PPN, —3#H —H#HE RHEd | 100 RHEd | 100 BHEd R3.7.29
FEEZEH) |TUbD £ = BmHEtEd] 100 BmHEEd| 126 BmEEd R3.7.9
FEEXEH) | KA i BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.14
BEREZFH) |V KA 1 H RHEd | 100 RHEd | 100 BmHeEd R3.7.12
FEEZEH) |TUbD a3 SR BmHEtEd] 100 BmHEEd| 172 BmEtEd R3.7.21
B ExEH) U =% 2H RHEY | 100 RHEY 100 BREEd R3.7.21
FEEXEH) |k a3 #H mHt9 | 100 fRHt9| 138 BREtEd R3.7.8
FREZEH) |TUbY =% £ H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.15
FEEXEH) U =% R H RHEY | 100 RHEY | 100 BmHEEd R3.7.20
FEEXEH) | b=b. SFE Rt 100 Rt 118 BREtEd R3.7.5
FEEZRH) |DvHAE KA KA BmHEEd] 100 BmHEEd] 100 BT R3.7.27
FEEEH) | R4H [Hf A =S AHE RHEY | 100 RHEY| 122 BmEEd R3.7.27
FEEEH) | R4H i) i BmHEtEd 100 BmHEtEd] 100 BREtEd R3.7.19
B EXEH) | R4H FE H Fi BmHEEd] 100 BmHEEd| 122 BmEEd R3.7.20
FEEXRH) | Xvx—= i B\ RHEd | 100 RHEd | 116 BHEd R3.7.1
FE(EEH) | XvdF—= i) i BmHEtEd] 100 BmEEd 117 BREEd R3.7.1
FEEXRH) | Avx—= FE H Fi RHEY 100 RHEY | 122 BmEEd R3.7.2
Hx(EXH) | Xvi—= KA SITE RHEd | 100 RHEd | 100 BHEEd R3.7.21
R (EEH) [VILLSYX KA BE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.5
EHEACET NP i Ll RHEY | 100 RHEY | 143 BREEd R3.7.12
BHREZFH) |koAZY i H FiE RHt9 | 100 Rt 100 BREtEd R3.7.30
FHEACET NP IMET 7 BmHEEd] 100 BmHEEd] 121 BmEEd R3.7.2
EHEACET NP IMEST iz RHEY | 100 RHEY | 100 BmHEEd R3.7.14
HREZFH) kA5 IMET 17 Rt 100 Rt 123 BREtEd R3.7.27
HEACET NP> Z3#H Z3#H BmHEEd] 100 BREET] 121 BREEd R3.7.1
EHEACET NP —3#HE —3#HE RHEd | 100 RHEd | 123 BRHET R3.7.15
HREZFH) koA £ 218 Rt 100 Rt 100 BREtEd R3.7.14
HEACET N rFP Kif S ITE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.21
EHEACET NP KA b 18 RHEd | 100 RHEd | 100 BHEd R3.7.20
BE (REH) koA £ 1 H BmHEEd] 100 BmHEEd] 100 BREtEd R3.7.8
HEACET MY KA 1 H RHEY 100 RHEY 100 BmEEd R3.7.16
HEACEZ NP D P ¥ H mHt9 | 100 R3] 100 BREtEd R3.7.30
FEEEH) koA =% £ H BmHEEd] 100 BmHEEd| 129 BREEd R3.7.12
EHEACET NP =% H RHEY| 100 RHEY | 122 BmHEEd R3.7.15
HE(REH) |[koAY i FE RHEd | 100 RHEd | 100 BRHET R3.7.20
HEACET M rP Z3#H Rl BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.29
BEACEL NPEP) Kif XA RHEY | 100 RHEY | 100 BmEEd R3.7.19
FEEXEH) |kyEOOY JEH B EJI Rt 100 Rt 100 BREtEd R3.7.8
FxE(EX$H) [FYEQDOY JEE FHE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
EHEACET NN A== JEME s RHEd | 100 RHEd | 107 BmHEEd R3.7.19
FEEXEH) |kyEOOY K& /MEH Rt 100 Rt 100 BREtEd R3.7.9
FxE(EXE$H) [rYEQDOY KE Hr BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.6
HEEFH) |kyEDDY KA SITE RHEd | 100 RHEd | 100 BHEd R3.7.26
HREFH) |FyEDDD £ 5 BmHEEd] 100 BmHEtEd] 100 BmEtEd R3.7.26
FxE(EFEZEH) [rYEROY Kif 1 H RHEY 100 RHEY 100 BRHEEd R3.7.26
FxEEXH) |kyEOOY =3 ¥ H mHt9 | 100 mHt9 | 100 BREtEd R3.7.27
FEEXE$H) [k JEE AITE I BmHEEd] 100 BmHEEd] 100 BREEd R3.7.28
FEEXEH) kb JEM FH RHEY 100 RHEY 100 BT R3.7.1
HRExH) |k JEH FHE R3] 100 Rt 100 BREtEd R3.7.20
FR(EFEEH) |k G XH BmHEEd] 100 BmHEEd] 121 BREEd R3.7.27
EHEACEX MR IMEST iz RHEY | 100 RHEY | 100 BmHEEd R3.7.26
HEExH) |k IMET iz Rt 100 Rt 122 BREtEd R3.7.28
FEEEH) |k Z3#H #E 4 [if] BmHEEd] 100 BmHEEd| 123 BREEd R3.7.7
EHEACEX MR —3#HE —3#HE RHEd | 100 RHEd | 129 BmHEEd R3.7.1
R ExH) |k Z#HH Z#HH Rt 100 Rt 120 BREtEd R3.7.1
FREEH) |k Z3#H Z3#H BmHEEd] 100 BmHEEd] 117 BmEEd R3.7.2
EEACEX R —3#HE —3#HE RHEd | 100 RHEd | 116 BmEeEd R3.7.6
HFEEEH) |k Z#H Z#H BmHEEd] 100 BmHEEd| 124 BREEd R3.7.9
FxE(RxE$H) kb —3#HE —3#HE RHEY | 100 RHEY| 120 BRHEEd R3.7.26
HFREEH) |k RE R HE RHt9 | 100 R3] 100 BREtEd R3.7.29
FR(EFEZXE$H) |k KE E/MUA | BHEY | 100 BmHEEd] 121 BmEEd R3.7.8
FEEXEH) b Kif SIAE RHEY | 100 RHEY 100 BmHEEd R3.7.26
R EEH) |k KA = Rt 100 Rt 124 BREtEd R3.7.27
FR(EFEEH) |k KA KA BmHEEd] 100 BmHEEd] 100 BREEd R3.7.5
EHEACEX MR KA JEIA RHEd | 100 RHEd | 100 BmHEEd R3.7.12
HEEEH) |k KA 1 H Rt 100 Rt 100 BREtEd R3.7.8
FEEEH) |k =% ¥ H BmHEEd] 100 BmHEEd] 100 BT R3.7.5
EHEACETNEN =% R H RHEd | 100 RHET | 124 BmHEEd R3.7.27
HEEEH) |k a3 X Rt 100 Rt 100 BREtEd R3.7.13
HEACET M b=b. | xiR BmHEEd] 100 BmHEEd| 124 BT R3.7.30
EHEACET NN =% xR RHEd | 100 RHEd | 100 BHeEd R3.7.6
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EEMEFICES TS EBZBERER
SH3E7HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BIEE ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

EHEACETMEN =% B BRHEY[ 100 BRHEY] 100 BmHEEd R3.7.13
HEEEH) |k a3 ¥ H BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.13
BEEZRH |FHFX G =H BmHEEd] 100 BmHEEd| 118 BT R3.7.16
FEEXH) [FR EH BiA)I RHEd | 100 RHEd | 100 BHEd R3.7.8
HFEEEH) |FX JEH AIEJI BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.7.26
FEEZXEH) |[FX JEM FH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.6
HEEXEH) |FX EH H RHEd | 100 RHEd | 100 BmHeEd R3.7.8
FEEEH) |FX JEH HE BmHEtEd] 100 BmHEtEd] 100 BmEtEd R3.7.14
FE(ExH) [FR i A RHEY | 100 RHEY| 124 BREEd R3.7.12
BREEH) |FR i 7l mHt9 | 100 Rt 121 BREtEd R3.7.12
FxE(EZXxH) [FR FiE 7aJll BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.14
FEEXH) [FR i Ll RHEY | 100 RHET] 1241 BmHEEd R3.7.8
HRExH) |[FX i e Rt 100 Rt 120 BREtEd R3.7.12
FxE(FEZXxH) [FR G XH BmHEEd] 100 BmHEEd] 100 BT R3.7.7
FEEXH) [FR i RH RHEY | 100 RHEY] 119 BmEEd R3.7.9
FEREEH) |FX i EXE BmHEtEd 100 BmHEEd|] 124 BREtEd R3.7.12
HEACET NS i #E BmHEEd] 100 BmHEEd] 121 BmEEd R3.7.13
FEEXH) [FR A% B\ RHEd | 100 RHEd | 100 BHEd R3.7.30
HEREEH) |FX i L ZFET BmHEtEd] 100 BmHEEd] 120 BREEd R3.7.12
R (ExH) [FR Fig i @HEY | 10.0 RHEY| 118 BRHEET R3.7.5
FE(EXEH) |FX FiE H Fi RHEd | 100 RHEd | 115 BHEEd R3.7.6
FxE(EXEH) [FXR i) 55 BmHEEd] 100 BmHEtEd| 133 BREEd R3.7.19
FE(EFEEH) |[FX IMET 15| RHEY | 100 RHET] 121 BREEd R3.7.1
HREEH) |[FX -3 H sl RHt9 | 100 Rt 127 BT R3.7.16
FxE(EFEZXxH) [FR Z3#H Z3#H BmHEEd] 100 BmHEEd| 122 BmEEd R3.7.8
HEACET NS —3#HE —3#HE RHEY | 100 RHEY | 100 BmHEEd R3.7.20
HEREEH) |FX XE /LA Rt 100 RHt9| 135 BREtEd R3.7.1
FxE(ExH) [FR KE /MEH BmHEEd] 100 BmHEEd] 100 BREEd R3.7.8
FEEXH) [FR PN /NMEA RHEd | 100 RHEd | 100 BmHEEd R3.7.12
HFEREEH) |FX K& T/MLUHA Rt 100 Rt 100 BREtEd R3.7.27
FEEZXH) |[FX N H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.5
FEEXH) [FR PN B RHEd | 100 RHEd | 100 BHEd R3.7.1
HFEEZEH) |[FX N EH BmHEEd] 100 BmHEEd] 100 BREtEd R3.7.7
R (ExH) [FR Kif A RHEY 100 RHEY 100 BmEEd R3.7.12
HREEH) |FR B BE mHt9 | 100 R3] 100 BREtEd R3.7.5
FxE(FEZXH) [FR KA BE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.5
FE(ExH) [FR Kif iLE RHEY | 10.0 RHEY| 100 BRHEET R3.7.8
HREEH) |FX A JITE Rt 100 Rt 100 BREtEd R3.7.6
FxR(EZXx$H) [FR KA id53 BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
FEEXH) [FR Kif HX RHEY | 100 RHEY | 100 BmEEd R3.7.13
HEREEH) |FX B = Rt 100 Rt 123 BREtEd R3.7.19
FxE(FEXEH) [FR f o] BE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.16
FEEXH) [FR KA BE RHEd | 100 RHEd | 100 BmHEEd R3.7.16
HFEREZEH) |FX KA 1 H Rt 100 Rt 100 BREtEd R3.7.5
FR(EZXH) [FR KA T H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.16
HEEXH) |FX A % RHEd | 100 RHEd | 100 BHEd R3.7.26
FEEEH) |FX £ JEIA BmHEEd] 100 BmHEtEd] 100 BmEtEd R3.7.7
FE(ExH) [FR =% AAR RHEY 100 RHEY 100 BRHEEd R3.7.29
BFREEH) |FR =i ¥ H mHt9 | 100 Rt 119 BREtEd R3.7.6
FxE(EFEZXEH) [FR =% HH BmHEEd] 100 BmHEEd| 118 BREEd R3.7.16
FREXEH) |[FR =i B RHEY 100 RHEY 100 BT R3.7.5
FEEXH) |FXR =8 #H R3] 100 Rt 100 BREtEd R3.7.21
FxE(ExEH) [FR =% 1 H BmHEEd] 100 BmHEEd] 100 BREEd R3.7.26
FEEXH) [FR =% A RHEY | 100 RHEY | 100 BmHEEd R3.7.16
HFEREEH) |FX a3 pufas] Rt 100 Rt 121 BREtEd R3.7.5
FxE(EFEZXH) [FR b=b. SFE BmHEEd] 100 BmHEEd| 123 BREEd R3.7.12
FEEXH) [FR =% STE RHEd | 100 RHtEd | 100 BmHEEd R3.7.5
HFEREEH) |FX a3 xiR Rt 100 Rt 119 BREtEd R3.7.6
FR(EFEZXH) [FR ZDih sERET BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
P (BE5E) |1\TUAH IMET iz RHEd | 100 RHEd | 100 BmEeEd R3.7.30
PR (BEHE) |1\TUA Z#H #E 4 ] BmEtEd 0.0 BmHEEd| 123 BREEd R3.7.28
HEEZH |1\TUH Z3#H Z3#H RHE3 | 100 3| 123 BEEd R3.7.20
P (BE$H) |1\JUAH —3#HE —3#HE RHEd | 100 RHEd | 134 BRHET R3.7.21
B (BEH) |/1\TJUh Z3#H Z3#H BmHEEd] 100 BmHEEd] 120 B3 R3.7.30
HEEZEH |1\TUH Kif STIE RHEY | 100 RHEY 100 BmHEEd R3.7.29
Hx(BXH) |1\ JUh B KA RHEd | 100 RHEd | 100 BRHET R3.7.21
FEEZRH |E—<> JEE EE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.12
HE(EEH) E—> i KER RHEd | 100 RHET | 121 BmHEEd R3.7.7
HREFH) |E—<> FiEs 7l Rt 100 Rt 129 BREtEd R3.7.1
FEEXH) |E—<> G 7l BmHEEd] 100 BmHEEd| 119 BT R3.7.2
HEEFEEH E—> i ALl RHEd | 100 RHEd | 128 BmHEEd R3.7.13
HE(REH) |[E—<v e XH Rt 100 Rt 100 BREtEd R3.7.28
FEEXRH) |[E—<> G 1\ BmHEEd] 100 BmHEEd] 100 BT R3.7.12
FEEEH) E—<v i &\ RHEd | 100 RHEd | 120 BHeEd R3.7.15
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REVFICBTIRHAMEMERZAERR

SH3FE7HBIE

(BAfL: RO JL/kg)

s o FRER T B E B B E B I E B ——
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

HE(FEEH |E—> s &\ BRHEY[ 100 BREHET] 120 BmHEEd R3.7.26
HE(BREH) |[E—<v i =] BmHEtEd| 100 BmHEtEd| 123 BREtEd R3.7.9
FEEZRH) |[E—<> i) i BmHEEd] 100 BmHEE3] 120 BT R3.7.15
FEEEH) E—<v Fig Fi RHEd | 100 RHEd | 134 BHEd R3.7.15
HE(REH) |[E—<v IMET iz BmHEtEd] 100 BmHEEd| 122 BmEEd R3.7.8
HE(EEH) E—<V Z#HE EE~ [ BmHEEd] 100 BmHEEd] 121 BmEEd R3.7.5
HEEXEH) | E—<v I—3#HE il RHEd | 100 RHEd | 100 B3 R3.7.26
HE(BREH) |[E—<v Z#H Z#H BmHEtEd] 100 BmHEEd] 120 BmEtEd R3.7.20
HE(EEH) E—<V N /I H RHEY | 100 RHEY 100 BREEd R3.7.16
HEEXEH) | E—<v XE /MEH mHt9 | 100 mHt9 | 100 BREtEd R3.7.14
FEEEH) |E—<> KA ¥ H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.13
FE(BEH) |E—= Kif STIE RHEY | 100 RHEY | 100 BmHEEd R3.7.27
HREFH) |E—<> KA £ Rt 100 Rt 100 BREtEd R3.7.15
FEEZRH |E—<> KA B®E BmHEEd] 100 BmHEEd] 100 BT R3.7.14
EEACET N e Kif BE RHEY | 100 RHEY | 100 BmEEd R3.7.19
FE(REH) |[E—<: KA JEIA BmHEtEd 100 BmHEtEd] 100 BREtEd R3.7.12
EEACET e Kif #H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.16
FEEEH) E—<: =% HEH RHEd | 100 RHEd | 100 BHEd R3.7.26
HE(BREH) |[E—<v b=b. B BmHEtEd] 100 BmHEtEd] 100 BREEd R3.7.13
FHE(EEH) E—<> =i H RHEY 100 RHEY 100 BmEEd R3.7.21
HEExEH) | E—<v =% £H RHEd | 100 RHEd | 100 BHEd R3.7.26
FxE(EXEH) E—<v =% #H BmHEEd] 100 BmHEtEd| 128 BREEd R3.7.5
FEEXEH) E—<v =i 2H RHEY | 100 RHEY 100 BREEd R3.7.13
FEEXEH) |E—<> =8 pufas] RHt9 | 100 Rt 119 BREtEd R3.7.6
Fx(ExH) E—<v b=b. XiR BmHEEd] 100 BmHEtEd| 134 BmEEd R3.7.2
FEEFEH E—<v =i xR RHEY | 100 RHEY | 100 BmHEEd R3.7.26
FEEXEH) |E—<> ZDih &% A HT BmHEtEd| 100 BmHEEd| 122 BREtEd R3.7.19
¥ (Ex$H) |7ayal)— JEHE EE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.19
R (EXH) |S=HhEKRFv —3#HE —3#HE RHEd | 100 RHEd | 125 BmHEEd R3.7.16
FEREEH) |IS=rTH HhA T BmHEtEd] 100 BmHEEd| 122 BREtEd R3.7.27
FE(EFEEH) IS+ IMEST iz BmHEEd] 100 BmHEEd] 120 BmEEd R3.7.7
HEICEZ N ES —H#HE il RHEd | 100 RHEd | 120 BHEd R3.7.1
xR (EXEH) |IS=hE Z#H Z#H BmHEEd] 100 BmHEEd| 125 BREtEd R3.7.5
HEACET NS —#HE —#HE RHEY 100 RHET] 1241 BmEEd R3.7.6
FREx$H) |IS=rTk -3 H -3 H mHt9 | 100 Rt 122 BREtEd R3.7.8
FR(EFEZXE$H) |S=rTbH Z#H Z#H BmHEEd] 100 BmHEEd] 100 BREEd R3.7.13
HEACET NS —#HE —#HE RHEY| 100 RHEY] 119 BmHEEd R3.7.14
FREEH) |IS=rTH -3 H -3 H Rt 100 Rt 119 BREtEd R3.7.16
FR(EFEZE$H) |IS=rTbH Z3#H Z3#H BmHEEd] 100 BmHEEd| 122 BmEEd R3.7.30
HEJCET NS N i HE RHEY | 100 RHEY| 124 BmEEd R3.7.9
FEREEH) |IS=rTH KE R HE BmHEtEd 100 BmHEtEd| 100 BREtEd R3.7.9
FE(EE$H) |IS=rTb+ KE E/MUA | BHEY ] 100 BmHEEd| 119 BmEEd R3.7.6
e (Bx$H) |IS=kTh PN F/NLUE RHEd | 100 RHEd | 100 BmHEEd R3.7.6
xR EXEH) |IS=hE K& H BmHEtEd] 100 BmHEtEd] 100 BREtEd R3.7.6
HEACEZ =4 KA B BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
FRExH) |IS=rTk KA B RHEd | 100 RHEd | 100 BHEd R3.7.16
¥ (BEH) |IS=hE £ B BmHEEd] 100 BmHEEd| 122 BmEtEd R3.7.20
HEACET NS i KA RHEY 100 RHEY 100 BRHEEd R3.7.6
FRExH) ISk KA A mHt9 | 100 mHt9 | 100 BREtEd R3.7.6
FR(EZX$H) |S=rTbH KA X HEF BmHEEd] 100 BmHEEd] 100 BREEd R3.7.12
HEACET N ES L Kif 1 H RHEY 100 RHEY 100 BT R3.7.21
FRExE$H) |IS=rTH KA % R3] 100 Rt 100 BREtEd R3.7.29
FE(FEZXE$H) |IS=rTbH KA 1 H BmHEEd] 100 BmHEEd] 100 BREEd R3.7.8
HEACET NS Kif 1 H RHEY | 100 RHEY | 100 BmHEEd R3.7.8
FEREEH) |IS=rTH b=b. 8 BmHEtEd| 100 BmHEtEd| 100 BREtEd R3.7.6
FE(EE$H) IS+ b=b. #E 4 [if] BmHEEd] 100 BmHEEd] 100 BREEd R3.7.13
HEACET N ES L =% £H RHEd | 100 RHtEd | 100 BmHEEd R3.7.26
xR EXEH) |IS=kE a3 #H BmHEtEd] 100 BmHEtEd] 100 BREtEd R3.7.26
FE(EFEE$H) |IS=rTb =% SFE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.16
TR EEH) |IS=rTh =% %R RHEd | 100 RHEd | 100 BHeEd R3.7.16
B (BEH) |2avH Z#H #B 4 [if] BmHEEd] 100 BmHEEd] 121 BREEd R3.7.26
BEACET NEEDY =i B RHEY | 100 RHEY 100 BRHEEd R3.7.29
HRExH) | A0V FiE H i RHt9 | 100 Rt 125 BREtEd R3.7.26
FxE(EXEH) [EE Z3#H Z3#H BmHEEd] 100 BmHEEd| 122 BmEEd R3.7.28
FE(EZEH) [RELE i KA RHEY | 100 RHEY 100 BmHEEd R3.7.6
xR EXEH) |RERTE KA 1 H BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.13
B3 (BxEE) |[hER<-S=rTNER EE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.12
HEACET PR ESs KA 5 RHEd | 100 RHEd | 100 BmHEEd R3.7.26
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EEMEFICES TS EBZBERER
SH3E7HAIE
(BAfL: RO JL/kg)

s o FRER T B E B B E B BITEE —
Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

FEREFH |TIRNE i e BRHEY[ 100 BmHEY| 139 BmHEEd R3.7.16
B (EZEH) |TI9nE L =] BmHEtEd| 100 BmHEtd| 139 BREtEd R3.7.16
R (EXRH) [Ty EGTR = AH BmHEEd] 100 BRHEE3| 122 BT R3.7.26
Bk (EFH) [Ty B A {hDHET RHEd | 100 RHET | 122 BHEd R3.7.7
FEEEH) | Ty JEH EE BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.7.27
R (EXRH) [Ty JEM FH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.13
BEEFH) | TRy AR AEE RHEd | 100 RHEd | 119 BmHeEd R3.7.6
FEEEH) | Ty G Eicp 1] BmHEtEd] 100 BmHEEd| 122 BmEtEd R3.7.16
R (EZEH) [Ty IMEST iz RHEY | 100 RHEY 100 BREEd R3.7.27
FEEEH) | TRy £ B mHt9 | 100 mHt9 | 100 BREtEd R3.7.15
FFEGEX$H) | Favs KA KA BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.21
R EFRRH) (oA i 7a)ll RHEY | 100 RHEY] 123 BmHEEd R3.7.13
FE(EXRH) |28 4 IMEST iz Rt 100 Rt 100 BREtEd R3.7.28
P (EXFH) [oVYT [HHEA HAE BmHEEd] 100 BmHEEd] 100 BT R3.7.19
¥k (EXEH) [aVH A% ax1R RHEY | 100 RHEY] 119 BmEEd R3.7.1
FEGEEH) |avvT K& /MEH BmHEtEd 100 BmHEtEd] 100 BREtEd R3.7.5
Fx(EXRH) 1>V JEM EE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.20
EHEAEET NPV EH H RHEd | 100 RHEd | 100 BHEd R3.7.1
FEGEEH) |V i RER BmHEtEd] 100 BmHEEd| 122 BREEd R3.7.7
Fx(EXRH) |V e H i RHEY 100 RHEY| 124 BmEEd R3.7.27
B (ExH) VY IMET iz RHEd | 100 RHEd | 115 BHEEd R3.7.2
FrE(GEXEH) |V Z#H Rzl BmHEEd] 100 BmHEtEd| 118 BREEd R3.7.6
Frx(EXRH) |V Kif 1 H RHEY | 100 RHEY 100 BREEd R3.7.8
B (EEH) |V a3 #H RHt9 | 100 Rt 125 BREtEd R3.7.27
P (GEXH) |V b=b. XiR BmHEEd] 100 BmHEEd| 119 BmEEd R3.7.6
PP (EREE) [R4A—F\D)L |AR =RH RHEY | 100 RHEY] 123 BmHEEd R3.7.1
BRCEFH) |VILLSHX IBTHA EHH Rt 100 Rt 100 BREtEd R3.7.19
e (EXH) |VILLTYFX EGHR {h BT BmHEEd] 100 BmHEEd] 124 BREEd R3.7.19
PR (EXRA) |YILLSYFX EH EE RHEd | 100 RHEd | 100 BmHEEd R3.7.1
B (FEREH) |YILLSHYF L &l Rt 100 Rt 100 BREtEd R3.7.13
PP (ERR) |YILLSYFX Z#HE Z#HE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.30
FPE (EREE) [WILLSHY X KA SR RHEd | 100 RHEd | 100 BHEd R3.7.29
BPiE (FERE) |YILLSHYX £ xiR BmHEEd] 100 BmHEEd] 100 BREtEd R3.7.12
R (EFRH) |YILLSHYFX Kif 1 H RHEY 100 RHEY 100 BmEEd R3.7.5
B (ERH) |YILLSHYF £ & mHt9 | 100 R3] 100 BREtEd R3.7.29
e GEEH) [VILLSYX =% HH BmHEEd] 100 BmHEEd] 121 BREEd R3.7.2
BriE (FEXH) |[VILLSY X [=F. & RHEY | 10.0 B3| 100 BRHEET R3.7.6
B (FEEH) |VILLSHYF a3 #H Rt 100 Rt 122 BREtEd R3.7.14
e GEEH) [VILLSYX b=b. XiR BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.8
FEEXRH) =5 =% xR RHEY | 100 RHEY | 100 BmEEd R3.7.6
B (EXEH) | ¥ £ JITE Rt 100 Rt 100 BREtEd R3.7.8
HEAEETNESS f o] il BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.16
FE (EEH) |*¥ =% LiEHE RHEd | 100 RHEd | 100 BmHEEd R3.7.14
B (EZEH) | ¥ b=b. LA Rt 100 Rt 100 BREtEd R3.7.14
HEAEETNESS =i Ll BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.14
B (EXF) |1\ IMET iz RHEd | 100 RHEd | 130 BHEd R3.7.6
FEEEH) |1\t Z#H Z#H BmHEEd] 100 BmHEtEd] 130 BmEtEd R3.7.19
¥ (EXRFH) |2nvyal)— B A =S AHE RHEY 100 RHEY 100 BRHEEd R3.7.21
$x (EX$) |Jova)— JEH EE mHt9 | 100 mHt9 | 100 BREtEd R3.7.20
¥ (ExEH) |Jnyal)— AL KER BmHEEd] 100 BmHEtEd| 123 BREEd R3.7.1
Pk (EEF) |[FoLvw B A AR RHEY 100 RHEY 100 BT R3.7.27
R (EXEH) |['koL>ym —3#H -3 H R3] 100 Rt 119 BREtEd R3.7.6
P (EXFH) E=/\ o84 ire] i BmHEEd] 100 BmHEEd] 100 BREEd R3.7.29
P (EEH) |Sa9H JEE miA)Il RHEY | 100 RHEY | 100 BmHEEd R3.7.20
B (EXF) |2a9H JEH HE Rt 100 Rt 100 BREtEd R3.7.29
EHEAEETNEEDY) G 78Il BmHEEd] 100 BmHEEd| 122 BREEd R3.7.29
P (EEH) |Sa9H i KH RHEd | 100 RHtEd | 130 BmHEEd R3.7.28
P (EXH) |23 i) i Rt 100 Rt 100 BREtEd R3.7.16
PP (EXR) |2avAh i) i BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.28
Ppk GEXF) |S30h FiE H =) RHEd | 100 RHEd | 123 BmEeEd R3.7.26
P (EXH) |2avH i) RtR BmEtEd 0.0 0.0 R3.7.26
P (EXH) |S99H IMET I RHEY | 100 RHEY| 130 BRHEEd R3.7.29
Prk EXF) |S2394 IMET 15 H RHt9 | 100 R3] 100 BREtEd R3.7.13
EHEAEETNEEDY) IMET 7 BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.13
P (EEH) |53 —3#HE —3#HE RHEY | 100 RHEY 100 B3 R3.7.28
Pk GEXF) |S394 ZH#H ZH#H RHEd | 100 RHEd | 123 BRHET R3.7.28
EHEAEETNEEDY) KE T/MUA | &BHEY | 100 BmHEEd] 100 BREEd R3.7.13
BEAEEI NEEDYI N H RHEd | 100 RHEd | 100 BmHEEd R3.7.19
Pk (EXF) |S2394 a3 #H Rt 100 Rt 131 BREtEd R3.7.21
PP (EXRS) |2avAh b=b. x; BmHEEd] 100 BmHEtEd| 133 BT R3.7.21
¥k (EFH) [EOnN Y JEM EE RHEd | 100 RHEd | 100 BmHEEd R3.7.21
FEEEH) | EanN1 Y i Pa L SR HT Rt 100 Rt 124 BREtEd R3.7.27
P (EXEH) [EOnN Y Z3#H Rzl BmHEEd] 100 BmHEEd| 124 BT R3.7.30
FEGEXRSH) | EONY PN F/NUE RHEd | 100 RHEd | 100 BHeEd R3.7.21
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¥k (EFH) [EOnN Y =% A BRHEY[ 100 BRHEY] 100 BmHEEd R3.7.15
B (EXH) |V—TJLEFX ZH#HHE ol BmHEtEd| 100 BmHEY] 131 BREtEd R3.7.28
Pk (EXF) [LER EGHR hDET BmHEEd] 100 BmHEEd| 123 BT R3.7.20
FEEXRH) LR a2l H RHEd | 100 RHEd | 120 BHEd R3.7.13
B (EZEH) |[FHARE £ 5 BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.7.26
P (EXRRH) |[FHRT KA 1 H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.8
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B R RE B R RE

¥k (EXEH) [V E i RH BRHEY[ 100 BRHEY| 100 BmHEEd R3.7.29
B (EZEH) |A9rT JEH AIEJI BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.1
HedEET NMEEESS JEHE miIEJI BmHEEd] 100 BmHEEd] 100 BT R3.7.2
HEAEEEI NMERESS JEHE H RHEd | 100 RHEd | 100 BHEd R3.7.5
FEEEH) |F3IRT JEH HE BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.7.26
HEdEEE NMEEESS A% 7a)ll BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.26
B (EEH) |1 X FiE H Fi RHEd | 100 RHEd | 120 B3 R3.7.29
FEEEH) |F3IRT i) =¥ BmHEtEd] 100 BmHEtEd] 100 BmEtEd R3.7.16
HEAEEE NMERESS IMET 15| RHEY | 100 RHET ] 1241 BREEd R3.7.20
FE(EEH) |FIRT IMEST 1 mHt9 | 100 mHt9 | 100 BREtEd R3.7.12
HEAEET NMEEESS Z3#H Z3#H BmHEEd] 100 BmHEEd] 117 BmEEd R3.7.14
HEACEE T Nk ESS XE I H RHEY | 100 RHEY | 100 BmHEEd R3.7.12
FREEH) |F3IrT £ B Rt 100 Rt 100 BREtEd R3.7.1
HEAEET MR ESS KA Ek BmHEEd] 100 BmHEEd] 100 BT R3.7.21
PR (EXRHH) |[AIRE =% ¥ H RHEY | 100 RHEY| 124 BmEEd R3.7.5
B (EZEH) |A9rF¥ a3 X BmHEtEd 100 BmHEEd 117 BREtEd R3.7.5
HEACEE T N ESS =% xR BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.15
R (EXRFH) |[AIRE =% HEH RHEd | 100 RHEd | 100 BHEd R3.7.26
B (EZEH) |A9RT a3 ¥ H BmHEtEd] 100 BmHEtEd] 100 BREEd R3.7.27
FE(EXRH) == N T/MUHA RHEY 100 RHEY 100 BmEEd R3.7.13
FREEH) == KA Y3 RHEd | 100 RHEd | 100 BHEd R3.7.1
HEAEETNESS JEH EE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.13
P (EXRH) |*¥ INMEST I RHEY | 100 RHEY 100 BREEd R3.7.19
B (EXEH) |*¥ RE Hr RHt9 | 100 Rt 100 BREtEd R3.7.12
HEAEETNESS Z D1 &% A BT BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.21
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Sk H wis | FRER | pomnisa) | evvaien  |esmsamm| WER
B R RE B R RE

BEACGEZ NP XE Ho BRHEY[ 100 BRHEY| 100 BmHEEd R3.7.5
¥ (BEF) |OhRD L LS BmHEtEd| 100 BmHEtEd| 119 BREtEd R3.7.9
HEACGET =P INMEST I BmHEEd] 100 BmHEEd| 125 BT R3.7.6
HELCGEE N =) INEST 17 RHEd | 100 RHEd | 135 BHEd R3.7.13
HEAGESINIPAV ERS [HTHA ZH BmEEd R3.7.6
HEACGET NIPA R G EGHR FH BmEEd R3.7.6
BEAREH) |DvAH(4E EH RE BmHEY[ 100 BHEY[ 100 B3 R3.7.14
X (MREH) |DvA(4E JEH EE BmHEtEd] 100 BmHEtEd] 100 BmEtEd R3.7.15
FEGEXRRH) |O¥vHAE JEM BT E I RHEY | 100 RHEY 100 BREEd R3.7.1
HEAGEXNPAT RS JEH AT EJI mHt9 | 100 mHt9 | 100 BREtEd R3.7.8
FEGEERRH) |OvHMAE JEE HE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.14
P (BE%0) |DvhHAE i 7a)ll RHEY | 100 RHEY ] 119 BmHEEd R3.7.7
HEAGESNIPAT RS i 7l Rt 100 Rt 121 BREtEd R3.7.19
FEGEERRH) |OvHAE i 7aJIl BmHEEd] 100 BmHEEd| 123 BT R3.7.21
¥ (BE5) |DvhAE i RH RHEY | 100 RHEY| 124 BmEEd R3.7.20
X (REH) |DvA(AE i RH BmHEtEd 100 BmHEEd 127 BREtEd R3.7.30
FrE (BE%8) |DvhAE FE H il BmHEEd] 100 BmHEE3| 125 BmEEd R3.7.21
¥ (BE5) |DvhAE Fig i RHEd | 100 RHEd | 123 BHEd R3.7.9
X (REH) |DvA(AE i) RtlR BmHEtEd] 100 BmHEtEd| 125 BREEd R3.7.30
HEACGET NIPA RS IMEST I RHEY 100 RHEY 100 BmEEd R3.7.8
HEAGEXNPAT RS IMET iz RHEd | 100 RHEd | 134 BHEd R3.7.5
FEGEERRH) |OvHMAE IMET 7 BmHEEd] 100 BmHEEd| 122 BREEd R3.7.9
¥k (BE%8) |DvhAE IMEST iz RHEY | 100 RHEY | 122 BREEd R3.7.12
HEAGESINIPAT RS XE HE RHt9 | 100 Rt 100 BREtEd R3.7.7
FEGEERRH) |OvHMAE N HE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.26
¥ (BE50) |DvhAE Kif SIAE RHEY | 100 RHEY | 100 BmHEEd R3.7.1
HEAGESNIPAY ERS KA JITE BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.21
FEGEERRH) |OvHAE KA i BmHEEd] 100 BmHEEd] 100 BREEd R3.7.8
FRAERMH) |O¥HAE =% e H RHEd | 100 RHEd | 100 BmHEEd R3.7.27
HEAGEINIPAT RS a3 RAR BmHEtEd] 100 BmHEtEd 100 BREtEd R3.7.1
HEACGET NIPAY R G =% #H BmHEEd] 100 BmHEE3| 126 BmEEd R3.7.2
FRGERH) |O¥HAE =% 2 H RHEd | 100 RHEd | 120 BHEd R3.7.14
HEMRERH) |DvA(4E b=b. puifas) BmHEEd] 100 BmHEEd] 131 BREtEd R3.7.2
¥ (BE5) |DvhHAE =% STE RHEY 100 RHEY| 120 BmEEd R3.7.6
HEAGEXNPAY RS =3 xiR mHt9 | 100 Rt 122 BT R3.7.8
FEGEERRH) |OvHMAE b=b. xiR BmHEEd] 100 BmHEEd| 125 BREEd R3.7.9
FRAERH) |O¥vHAE ZDih SEAHET RHEY| 100 RHEY| 100 BmHEEd R3.7.21
HEAGESINIPAT RS ZDih A Rt 100 Rt 13.6 BREtEd R3.7.20
HEACGET N PEDY i RER BmHEEd] 100 BmHEEd] 124 BmEEd R3.7.26
EHEACGETNEE =D N Hh RHEY | 100 RHEY | 100 BmEEd R3.7.14
¥E (BE$H) |44 £ = BmHEtEd 100 BmHEtEd| 100 BREtEd R3.7.12
FE(ARELH) | =y JEE EE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.20
EEACGEZ I =IPD JEME miA)Il RHEd | 100 RHEd | 100 BmHEEd R3.7.1
FE(MRERH) =PV L B\ BmHEtEd] 100 BmHEtEd] 100 BREtEd R3.7.12
FE(EREH) |=or i) i BmHEEd] 100 BmHEEd| 123 BmEEd R3.7.16
X (MREH) = o IMET I RHEd | 100 RHEd | 100 BHEd R3.7.21
FERUARELH) | =V IMET 7 BmHEEd] 100 BmHEtEd] 100 BmEtEd R3.7.14
FE(HREfH) | =y N Hh RHEY 100 RHEY 100 BRHEEd R3.7.1
FE(MREH) = Py =% SR RHEd | 100 RHEd | 143 BRHET R3.7.16
HEACGEZ =P P=F . A BmHEY[ 100 BHEY][ 120 BRHET R3.7.8
B (BEH) |/ \VvHhE(1a> [(EA FH BmHEEd] 100 BmHEEd] 100 BT R3.7.13
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Riifa AFTY =% AAR BRHEY[ 100 BRHET| 122 BmHEEd R3.7.21
k] X JEH HE BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.12
Rutse XA N T/MUA | &BHEY | 100 BmHEEd] 100 BT R3.7.5
Riifa XA KA KA RHEd | 100 RHEd | 100 BHEd R3.7.15
eSS A Kif /e BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.7.7
Riifa X Kif N BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.7
Riifa X KA BE RHEd | 100 RHEd | 100 BmHeEd R3.7.6
k] HYH50R JEE HE BmHEtEd] 100 BmHEEd] 121 BmEtEd R3.7.9
EXiE HHS5UR EH H RHEY | 100 RHEY 100 BREEd R3.7.1
RHizE VILE Ls i 7l mHt9 | 100 Rt 119 BREtEd R3.7.19
RufE JILE L ZDHh &% A BT BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.16
Riifa roEOTY [ =% xR RHEY | 100 RHEY | 100 BmHEEd R3.7.26
RHizE > JEH FHE Rt 100 Rt 100 BREtEd R3.7.27
Ruifs + EH FHE BmHEEd] 100 BmHEEd] 100 BT R3.7.29
Riifa + i b RHEY | 100 RHEY | 100 BmEEd R3.7.27
RHisa + L EXE BmHEtEd 100 BmHEtEd| 118 BREtEd R3.7.29
Riifs + i A BmHEEd] 100 BmHEEd| 124 BmEEd R3.7.30
Riifa IR EH RE RHEd | 100 RHEd | 100 BHEd R3.7.27
bk KD JEH AITEJI BmHEtEd] 100 BmHEtEd| 123 BREEd R3.7.27
Riifa TS5 L4 JEM EE RHEY 100 RHEY 100 BmEEd R3.7.6
Riifs 751 IZH#HH I—3#HE RHEd | 100 RHET | 124 BHEEd R3.7.13
Raisa BN ZDHh &% A BT BmHEEd] 100 BmHEEd] 100 BREEd R3.7.6
Riifa TIL—A1— A% KER RHEY | 100 RHEY 100 BREEd R3.7.27
RHizE EE [HHA FHE RHt9 | 100 Rt 120 BREtEd R3.7.16
Ruifs EE EGaR ¥ H BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.15
EXiEE EE EGTR FEE RHEY | 100 RHEY | 100 BmHEEd R3.7.26
RHizE EE JEHE EE Rt 100 Rt 100 BREtEd R3.7.1
E RS EE JEE EE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.1
Riifa EE JEM BE RHEd | 100 RHEd | 100 BmHEEd R3.7.1
RHizE EE JEHE EE Rt 100 Rt 100 BREtEd R3.7.2
Riifs EE JEM EE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.2
Riifa EE JEH RE RHEd | 100 RHEd | 100 BHEd R3.7.2
Raisa EE JEE EE BmHEEd] 100 BmHEEd] 100 BREtEd R3.7.2
Riifs EE JEM EE RHEY 100 RHEY 100 BmEEd R3.7.5
RHizE £E JEHE EE mHt9 | 100 R3] 100 BREtEd R3.7.6
E RS EE JEE EE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.12
Riifa EE JEM EE RHEY| 100 RHEY| 100 BmHEEd R3.7.14
RHizE £E JEHE EE Rt 100 Rt 100 BREtEd R3.7.19
Ruifs EE JEE EE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.19
EXEE EE JEM BE RHEY | 100 RHEY | 100 BmEEd R3.7.20
RHizE EE JEHE EE Rt 100 Rt 100 BREtEd R3.7.21
Ruifs EE JEE EE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.26
Riifa EE JEM EE RHEd | 100 RHEd | 100 BmHEEd R3.7.26
ek EE JEHE EE Rt 100 Rt 100 BREtEd R3.7.27
Riifs € JEM EE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.28
Riifs £E EH EE RHEd | 100 RHEd | 100 BHEd R3.7.29
k] EE JEHE EE BmHEEd] 100 BmHEtEd] 100 BmEtEd R3.7.30
Riifa EE JEM BE RHEY 100 RHEY 100 BRHEEd R3.7.30
RHizE £E JEHE EE mHt9 | 100 mHt9 | 100 BREtEd R3.7.30
E RS EE JEH AITE I BmHEEd] 100 BmHEEd| 125 BREEd R3.7.1
Ratsa EE JEM BT A RHEY 100 RHET] 1241 BT R3.7.2
RHizE EE JEHE AIEIJI R3] 100 Rt 100 BREtEd R3.7.13
Rutsa EE JEE AiIE I BmHEEd] 100 BmHEEd] 100 BREEd R3.7.14
EXEE EE JEM miA)Il RHEY | 100 RHEY| 125 BmHEEd R3.7.20
RHizE EE JEH A EJI Rt 100 Rt 100 BREtEd R3.7.20
RuifE EE JEE AiTE I BmHEEd] 100 BmHEEd| 119 BREEd R3.7.21
Riifa EE JEM miA)Il RHEd | 100 RHtEd | 100 BmHEEd R3.7.21
ek € JEH B EJI Rt 100 Rt 100 BREtEd R3.7.26
Riifa € JEA giAJIl BmHEEd] 100 BmHEEd| 122 BmEEd R3.7.26
Riifs EE EH aiE I RHEd | 100 RHEd | 124 BmEeEd R3.7.27
Raisa EE JEH AITEJI BmHEEd] 100 BmHEEd| 122 BREEd R3.7.30
Riifa EE JEE miA)Il RHEY | 100 RHEY 100 BRHEEd R3.7.13
RHizE EE JEH BT EJI RHt9 | 100 R3] 100 BREtEd R3.7.15
Ruifs EE JEE AiIE I BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.16
Riifa EE JEM miA)Il RHEY | 100 RHEY 100 BmHEEd R3.7.20
RHizE € JEH B EJIl Rt 100 Rt 100 BREtEd R3.7.21
Ruisa EE JEE AiIE I BmHEEd] 100 BmHEEd] 100 BREEd R3.7.21
EXEE EE JEM miA)Il RHEd | 100 RHEd | 100 BmHEEd R3.7.26
RHizE EE JEH A EJI Rt 100 Rt 100 BREtEd R3.7.28
Rutsa EE JEE AiTE I BmHEEd] 100 BmHEEd] 100 BT R3.7.29
EXEE EE JEM 0/ RHEd | 100 RHEd | 100 BmHEEd R3.7.1
ek EE JEHE HE Rt 100 Rt 100 BREtEd R3.7.2
e ¥E EE JEA FH BmHEEd] 100 BmHEEd] 100 BT R3.7.7
Riifa EE EH 0/ RHEd | 100 RHEd | 100 BHeEd R3.7.7
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Riifa EE JEM M| BRHEY[ 100 BRHEY] 100 BmHEEd R3.7.8
k] EE JEH HE BmHEtEd| 100 BmHEtEd] 100 BREtEd R3.7.9
Riifa EE JEE FH BmHEEd] 100 BmHEEd] 100 BT R3.7.12
BitsE EE EH H RHEd | 100 RHEd | 100 BHEd R3.7.12
eSS £E JEM #H BmHEtEd] 100 BmHEtEd] 100 BmEEd R3.7.12
Riifa EE JEM FH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.12
Riifa EE JEHE H RHEd | 100 RHEd | 100 BmHeEd R3.7.13
SR £E JEE #H BmHEtEd] 100 BmHEtEd] 100 BmEtEd R3.7.13
Riifa EE JEM H RHEY | 100 RHEY 100 BREEd R3.7.13
RHizE EE JEHE FHE mHt9 | 100 mHt9 | 100 BREtEd R3.7.13
RufE EE JEH HE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.14
Riifa EE JEM H RHEY | 100 RHEY | 100 BmHEEd R3.7.16
RHizE EE JEH FHE Rt 100 Rt 100 BREtEd R3.7.19
Ruifs EE JEE FHE BmHEEd] 100 BmHEEd] 100 BT R3.7.20
Riifa EE JEM H RHEY | 100 RHEY | 100 BmEEd R3.7.20
RHisa EE JEHE HE BmHEtEd 100 BmHEtEd] 100 BREtEd R3.7.21
Riifs EE JEM FH BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.21
EX o EE EH H RHEd | 100 RHEd | 100 BHEd R3.7.21
bk EE JEH HE BmHEtEd] 100 BmHEtEd] 100 BREEd R3.7.21
Riifa EE JEE FH RHEY 100 RHEY 100 BmEEd R3.7.21
Riifs EE JEHE H RHEd | 100 RHEd | 100 BHEEd R3.7.26
SR EE JEE HE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.26
Riifa EE JEM H RHEY | 100 RHEY 100 BREEd R3.7.26
RHizE EE JEHE FHE RHt9 | 100 Rt 100 BREtEd R3.7.26
Ruifs EE JEE HE BmHEEd] 100 BmHEEd] 100 BmEEd R3.7.26
EXiEE EE JEM H RHEY | 100 RHEY | 100 BmHEEd R3.7.26
RHizE EE JEH FHE Rt 100 Rt 100 BREtEd R3.7.27
E RS EE JEH FHE BmHEEd] 100 BmHEEd] 100 BREEd R3.7.28
Riifa EE JEM s RHEd | 100 RHEd | 100 BmHEEd R3.7.28
RHizE EE i 7l Rt 100 Rt 123 BREtEd R3.7.19
Riifs EE i 7a)l BmHEEd] 100 BmHEEd| 123 BmEEd R3.7.20
Riifa EE i 7a)ll RHEd | 100 RHET | 126 BHEd R3.7.26
Raisa EE G G 1] BmHEEd] 100 BmHEEd] 100 BREtEd R3.7.27
Riifs £E i JR L RHEY 100 RHEY| 124 BmEEd R3.7.14
R EE i B\ 23| 100 EHE9 | 100 BRHET R3.7.21
E RS £E i 8 BmHEEd] 100 BmHEEd] 120 BREEd R3.7.26
Riifa EE FE H i RHEY| 100 RHEY| 100 BmHEEd R3.7.19
RHizE EE HE H FiE Rt 100 Rt 124 BREtEd R3.7.26
Ruifs £E IMET I BmHEEd] 100 BmHEEd| 118 BmEEd R3.7.20
EXEE EE IMNEST RRE; RHEY | 100 RHEY | 100 BmEEd R3.7.15
RHizE EE IMET R Rt 100 Rt 100 BREtEd R3.7.15
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